[ Efficiency vs vertpos |

—_
+—

o
(]
>

[
>
>

[9)
c
o

)
=
)

Ratio

Efficiend

N

=
[
>

[
>
>

5
c
o

e
=
)

Ratio

0.4

0.09
0.08
0.07
0.06
0.05]

0.04E}
0.03H
0.02}
0.01f- -+

| SR RALAN RARLN LLRRE LRRLN LRRR

qI

osfH+

0.2

1072

OryiTal _RECO

NewHp Tt %E
New@tq‘RE 8
1itNewDett —"RECO

0.18
0.16
0.14
0.12

0.1

0.08

0.06F
0.04f

0.02

TTT
_—
| ==
==
|-
[
[

............

............

............

q

0.5

............

-30 -20 -10 0 10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

Y
>
>

[S]
c

efticie

Ratio

0.2

0.18
0.16)
0.14
0.12

0.1
0.08
0.06)
0.04
0.02

............................

............................

'I”I”IIIIIII”II”J.I”IIIIIIIIIIIIII”

................................

qQ
4
0.8

0.6

Tl A
0 5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


